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Plot Sensor and FgRec Data
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Trend plot forP3-6_0
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P3-6

Bra) | GEBAK F) | ERE(EA/K) (KK s

06:40 210 80.0 5| 1Ri%0e06:40 F31 (REERE)
07:30 210 80.0 5| 1Ri%e07:30 F31 CGREMEEE)
09:00 210 80.0 | 1Ri%009:00 F31 (RFEEREE)
10:00 210 80.0 5| 1Ri%@10:00 F51 (RS
11:00 210 80.0 & BRi%e11:00 Fzh (KREAERESE)
11:55 210 80.0 5| {Ri%e11:55 Fz) (REERE)
12:40 210 80.0 5| 1Ri%012:40 F51 CREEREE)
13:25 210 80.0 | 1Ri%e13:25 F (REAHEREE)
14:05 210 80.0 | Rige14:05 F51 (GREHRESE)
14:45 210 80.0 5| 1Ri%e14:45 F5 CGREAEREE)
15:40 210 80.0 [Z=| {RiZe15:40 Fzh (GRAEHSE)
23T 2310.0 (1.7 880. 0 32 3HKEC: 1840.0, PH: 6.0

EREBRK (210) 5FREA (145. 0) R, AIREM T % WEIERS X XER

ZRIALPRIERE116.0 ml.

large discrepency for begining water status (87:234.0), set to 116.0 ml.

BEREBIEC (2535.0) H5iZZEEC (2000.0) REK K, BHHE

#[ERECE (2535.0 vs 4282.0) 15
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P3-6

BjiE) | BRI (F)) | EHME (BAH/K) | XS ERE

06:15 200 90.0 E BRi&e06:15 Fzh (RAEREE)
07:05 200 90.0 5| {Ri%@07:05 Fzh (FAERSE)
07:55 200 90.0 = {RRiB@07:55 Fzh (RFAEEE)
09:10 200 90.0 S {Rig@09:10 F3 (KRAMERSE)
10:20 200 90.0 El BRi%010:20 Fzh CGRAEREE)
11:25 200 90.0 =l {Rige11:25 Fz1 (RAERSE)
12:20 200 90.0 S {Rige12:20 F3 (RAERSE)
13:05 200 90.0 E BRige13:05 Fa1 (GRAERESE)
13:45 200 90.0 E| {Rig013:45 Fzh (RE{EREE)
14:25 200 90.0 | Ri%e14:25 F3 (REAERSE)
15:10 200 90.0 El BRige15:10 Fz1 CGRAERESE)
16:00 200 90.0 F[ BRige16:00 Fz1 (RAERESE)
24t 2400.0 (12%) 1080. 0 32 KEC: 1840.0, PH: 6.0

LOREBIETC (200) 5748 (167. 0) AFF, WaeH T 5 @RERS 2 XER
ZRIASLPRIERE108. 0 ml.

BE X i# O] RECE IR Hh k.

REREBIEC (2465.0) H5iZEEC (2000.0) REK K, HHE

3 [EHECE (2465. 0 vs 3988.0) 15
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